Market-specific demand dynamics will drive the profitability of each asset class

Asian petro- ‘ g What is the most profitable asset mix to respond to the .év
chemical market Base.d on dynamics in each market and sector? ¢
: previously 100.0 -
European light M = configured R 0y
transportmarket /% scenarios, what is $ 285,
North American g Y the impact of: S % Offshore wind
k v T 2 _-..Conventional oil
powermarket * Sequestering 2 "= AN Deepwater oil
more carbon? > @ "... Onshora el - .
. 2 [ )
L » Reducing = .‘ \ Unconventional oil
kl operations costs? 2 ’ \
g - Optimizing E 1.0 Conventional gas
€ sustainment capital s
8 expenditure? o .
5 . Swapping the whole 2 o Unconventional g‘as,‘u“._._
z asset for another 0.1 ‘ ‘ o
& asset class? 0.001 0.010 0.100 1.000

Consumption (gigajoules) Invested capital turnover* (J/USD)

*Invested capital turnover refers to joule delivered per unit of capital.
Assumptions: Carbon tax = $1OO/tCOZe. Emissions efficiency = 20%.
Hydrocarbon cost efficiency = 15%. 2020 price = $50/barrel (bbl). 2040 price = $40/bbl.

Source: Accenture analysis and assumptions




